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run_13085028 FGT_ MPV_1,Timebin=2,Disc=1,asmb=1AB
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run_13085028 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
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run_13085028 FGT_ADC_1,Timebin=2,Disc=1,asmb=1AB
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run_13085028 FGT_ MPV_1,Timebin=2,Disc=1,asmb=1AB
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run_13085028 FGT_RMS 1,Timebin=2,Disc=1,asmb=1AB
Sun Mar 25 12:32:09 2012

[ADC RMS for RDO=1,ARM=0,APV=17 _}

250

200

RMS (ADC-ped)

150

100

1-|-|-r]-|-r|1-|-r11-|-[|1-|-|]-|

50

[—
1
0

L i i i
20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=0,APV=18 "}

5 160 === T e e T e T e MR M MR e
2 = 5 5 2 2 2
g 140 f—
< =
2 100 E—
3 —
100 f—
—
80 f—
60 fp——
2y
40 pl=ff -
ramy
) |E=—r°0°00005050050200¢h50535509005250530500
o
=
0
0

APV channel

[ ADC RMS for RDO=1,ARM=0,APV=19 |

RMS (ADC-ped)

i
120
APV channel

[CADC RMS for RDO=1,ARM=0,APV=20 _}

= 200 f/—
4 =
Q 180 fm=—
< =
o 160 pP—
= =
09 140 =
120 f—
=
100 =
=
80 p—
60 Py |_
20 ==k
=
0 [E—
=
%

APV channel

[ ADC RMS for RDO=1,ARM=0,APV=21 "}

RMS (ADC-ped)

APV channel




run_13085028 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
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run_13085028 FGT_RMS 1,Timebin=2,Disc=3,asmb=3DA
Sun Mar 25 12:32:14 2012

[CADC RMS for RDO=1,ARM=2,APV=0__J

RMS (ADC-ped)

250

200

150

100

50

°'H‘.1"!‘.’H]'I'I'H]'I'I'HITI'IT|I1'I

i
120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=1 "}

RMS (ADC-ped)

1-|-|-r||11-|

[ ADC RMS for RDO=1,ARM=2,APV=2 "}

RMS (ADC-ped)

300 f=

250

200

150

100

i
120

APV channel

[CADC RMS for RDO=1ARM=2,APV=3__}

RMS (ADC-ped)

350

300

250

200

150

100

50

°ﬂ|rl1]”‘|l I'I1I[HH|1ITI]HI1|H'I1|I'II

i
120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=4 "}

RMS (ADC-ped)

350

300

250

200

150

100

50

° @'J__[I'II II1III'I1 |[|1|r|1 mlrrn|rm[m

120
APV channel




run_13085028 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA
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run_13085028 FGT_RMS 1,Timebin=2,Disc=4,asmb=4AB
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run_13085028 FGT_ MPV_1,Timebin=2,Disc=5,asmb=5CD

Sun Mar 25 12:32:05 2012
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run_13085028 FGT_RMS 1,Timebin=2,Disc=5,asmb=5CD
Sun Mar 25 12:32:38 2012
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